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rate/cell by tray module ID, TraylDinLoop=0
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rate/cell by loop module ID
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| nHits/ev, ToT range |

i E

10°

10*

10°

10?

10

| I |II|IH] I |III|H]

H
o
1l

1 I 1 1 I 1
100 200 300 400 500 600 700 800 900 10

| nHits/tray/ev, ToT range |

108

OWWI| II|I|(||TIIIIHH| [T T 17 |



t-t,,., NHits/tray/ev>25 |

t-t.,, VS module, nHits/tray/ev>25
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vpd map

20

15

10

htotx_vpd

40

35

30

25

20

15

10

5

vpd cell

1

0.8

0.6

0.4

0.2

PITTTT

-0.8 -06 -04 -0.2 0 02 04 06 0.8

1

0 5 10 15 20 25 30 35 40 45



ToT MTD
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